f > AN
5 B OB B R
ESE [ i Sk FR
K5 E5
TEEE ORI — R ERE TR E X | B4 54 BLH | PER g |¢i&ﬁ¥ﬂ%)ﬁﬁ
HRROFREGEE)EHA H REFN404E4 H 1 H FREGRE) D% M4 4LH |iEE%%£5%%’a€1IE
R PRETTHREKFIT4T H 78 FE A |ERTHX S T X
Bl [RETRER X IR BRI
R | RE BTN TRETRT FRFHRE e AT
86571
RO FER: (m) 27075 Bt OB o X & OV H A
= B 07 075 |5 BT ZHEALI 2 T ARG 507 ~ I fi RO K5 UK L AIEF715% 1 iR F1444:8 1 6 H
HeAEh s ) ’ 5 FER A TAIT KT IR R4 7757 1~ [RIET FAR T H582% WBFN524E4 A 26 H
XA FE R (m) R o |BEHTR AR M2 T 19228 14~ A 1 24k M KRS T B 13767 WAFN634=3 H 24 H
= JE Byt o T ~ B T e R Kk SR L T B k646 1 A
HERENTORWK O E R 0
s i e (m) S 1 WM M
i 22,821 | ¥k | #EE (m) | M %% JEF: (m) M B W
DIES 3 1,216 | KAk 35 3,038 | M | EE M| Mk [mrreEmEm)
I | 4E PN 0 0 0 0 0 0
B|E RO 0 0
oo it 35 3,038
HE DR B 9.0A—MLLL E 5.5A—R~LLL |k 4.0A—MLLL E 4.0 A— R~V ARG
P | s i o i m) | 9.0A—MLAifm) 5.5 24— LA (m) (m)
AE W% A 17,174 9,901 0 0
o R 0 0 0 0
&t 17,174 9,901 0 0
B B B2 B R AE R ) DIER: (m) 0 DI %5
W EA 54t EA i it pREEEReE | TSR] BE 2
st () A% H#h(nd) (nd) (nd) L o & E e (4
D 5]
A 783,045 0 0 783,045 AR 7 0
B/ NHEIE R B & Be/ SRR (m) & T BHET 2B (%) [
6.5 22.2 9 30.0 14.3 58 11.0 14.5 60
X i JE K (m) wOH o 4 ™ B
| E
FEREDMER PR oy oxo & TERNE
B
& (m) - - - _
» 9.0 5.54— MBI 4,04 VB E 4,04~
- 2Lk 9.0 A—MVATH 5.5 A—MVATi Aot
" B om B L B OB OE o 4 BB B
H () | BEEAEL
i _ _ _ _ _ _ _




% = S

B &2 A R D B D TAEY O
1. KM RS AT R 5 1024% O 3HIEA G FRIAT [R5 123/ A M F T (JER 436m)
2. TE  KREJIERED
3. EHE K4 WIIEEE hEHEGRR
AT IRET X BN TIHR6E305
4. BEFE (1) ERGAMH (K (LS T, ) BH. EROMBYEOME - IXHE KO B L3
JERR I, TAEMER D, ) LIS OISy DU, Mk Eo M ERE
(2) BIF I\ CHe T D1EM T, ML A DI 1A= MV AR D53 1IT DUV TOMER?
(B)FRIEL T IR DLE T O KEFEIA
5. FEMIM BEAFIS0ETH 1 HD Y MR OfFki 5 H T

WLE Z Ot 270 5 P OB

ZORMDFFFL T NS HIH

FREL (ET) 4EH H
k24450 ET




i =

ook Z ik kO F

B4 0054 BE

g = HE £
X (B Bl FEE: RO m m IBINAE R HE T OFEAH fi
BHoE [ R OE | oBER | KR | B K| B[R iR E
m

N =TS INET LS 9.25 5.50 0.00 0.00 51.0 0.0 0.0 51.0 51.0 |7 A7 7L Mtk
-1.2 4 ~ -1.1 53 9.25 5.60 0.00

N =YY INET LS 11.75 5.20 0.00 0.00 28.0 0.0 0.0 28.0 79.0 |7 A7 7V ek
-1.1 47 ~ -1.1 19]  11.75 5.30 0.00

N =TS YINETIE RS 9.25 5.50 0.00 0.00 104.0 0.0 0.0 104.0 183.0 |7 =277/ Madide
-1.1 19 ~ -1.0 15 9.25 5.60 0.00

N =TS YINET L RS 9.25 5.50 0.00 0.00 6.0 0.0 0.0 6.0 189.0 |7 277 /L Mk
-1.1 53 ~ -1.1 47 11.75 5.30 0.00

N =TSV INET LS 11.75 5.20 0.00 0.00 26.0 0.0 0.0 26.0 215.0 |7 27 7L ek
-1.0 15 ~ -0.9 89 9.25 5.60 0.00

N =TS YINE TS 9.25 5.50 0.00 0.00 149.0 0.0 0.0 149.0 364.0 | 7 A7 7)1 Mgtk
-0.9 89 ~ -0.8 40 9.25 5.60 0.00

N =TS YINET L RS 11.75 5.20 0.00 0.00 26.0 0.0 0.0 26.0 390.0 |7 277 L Mt
-0.8 40 ~ -0.8 14 9.25 5.60 0.00

N =TS YINET LS 9.25 5.50 0.00 0.00 56.0 0.0 0.0 56.0 446.0 |7 27 7\ ek
-0.8 14 ~ -0.7 58 9.25 5.60 0.00

N =TS YINE TS 9.25 5.50 0.00 0.00 32.0 0.0 0.0 32.0 478.0 |7 A7 7\ ek
-0.7 58 ~ -0.7 26  11.75 5.30 0.00

N =TS YINET LS 9.25 6.50 0.00 0.00 441.0 0.0 0.0 441.0 919.0 |7 A7 7 /v N
-0.7 26 ~ -0.2 85 9.25 6.60 0.00

N =TSV INET LS 11.75 5.20 0.00 0.00 24.0 0.0 0.0 24.0 943.0 |7 A7 7V e
-0.2 82 ~ -0.2 58]  11.75 5.30 0.00

N =TS YINET LS 9.25 6.50 0.00 0.00 105.0 0.0 0.0 105.0 1,048.0 [ 727 7/L ek
-0.2 58 ~ -0.1 53 9.25 6.60 0.00

N ST YINET LS 9.25 6.50 0.00 0.00 3.0 0.0 0.0 3.0 1,051.0 |7 A7 7 /L Mt
-0.2 85 ~ -0.2 82[ 11.75 5.30 0.00
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N =T YINET LS 11.75 5.20 0.00 0.00 13.0 0.0 0.0 13.0 1,064.0 |7 A7 7 /L Mt
-0.1 22 ~ -0.1 9 9.25 6.60 0.00

N =TS YINET LS 9.25 6.50 0.00 0.00 109.0 0.0 0.0 109.0 1,173.0 |7 2770 Mt
-0.1 9 ~ 0.0 0 9.25 6.60 0.00

N =TS YINETIE RS 11.75 5.20 0.00 0.00 23.0 0.0 0.0 23.0 1,196.0 [7 27 7 /L Mk
-0.1 45 ~ -0.1 22 11.75 5.30 0.00

N =TS YINET L RS 11.75 5.20 0.00 0.00 8.0 0.0 0.0 8.0 1,204.0 |7 A7 7 /L Mt
-0.1 53 ~ -0.1 45 9.25 6.60 0.00

N =YY INET LS 9.00 6.50 2.75 0.50 460.0 0.0 0.0 460.0 1,664.0 |7 2770 Mt
0.0 0~ 0.4 60 9.00 6.00 1.00

N =TS YINE TS 9.00 1.50 1.00 0.50 103.0 0.0 0.0 103.0 1,767.0 |7 27 7/\ ek
0.4 60 ~ 1.0 75 7.00 4.00 3.50

SR A BT X 9.00 4.00 0.75 0.50 130.0 0.0 0.0 130.0 1,897.0 [7 A7 7 /L Mk
1.0 75 ~ 1.2 5 9.00 5.50 3.50

N =TS YINET LS 6.00 2.50 0.50 1.00 765.0 0.0 0.0 765.0 2,662.0 | 7277 /L Mkt
1.2 5~ 1.9 70 6.00 2.50 1.50

N =TS YINET LS 9.75 4.00 2.50 0.50 330.0 0.0 0.0 330.0 2,992.0 |7 A7 7L Mgk
1.9 70 ~ 2.3 0 9.75 5.00 0.50

S A BT X 9.75 4.00 3.00 0.50 670.5 0.0 89.5 760.0 3,752.0 |7 AT 7L Mk
2.3 0~ 3.0 60 9.75 4.00 0.50

N =TI T Y 13.00 4.00 3.50 0.50 | 1,036.0 0.0 0.0 1,036.0 4,788.0 |7 A7 7L Ntk
3.0 60 ~ 4.1 10| 13.00 4.00 0.50

N =TS YINET Y RS 13.00 4.00 3.00 0.50 520.0 0.0 0.0 520.0 5,308.0 |7 A7 7 L Mk
4.1 10 ~ 4.6 28  16.25 4.00 0.50

S IR A R T R X 9.75 4.00 0.00 0.50 14.1 0.0 367.9 382.0 5,690.0 |7 A7 7L Mgtk
4.6 28 ~ 5.0 10 9.75 4.00 0.50
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PN AN IS RS 9.75 4.00 5.00 2.00 40.6 0.0 239.4 280.0 5,970.0 |7 A7 7L Mk
5.0 10 ~ 5.2 90 9.75 0.00 0.50

JE e VR By T 22 e X 9.75 4.00 3.00 0.50 | 2,704.6 0.0 85.4 2,790.0 8,760.0 |7 A7 7 /L Neids
5.2 90 ~ 8.0 80 9.75 4.00 0.50

JE o VR Ry T 22 e X 9.75 0.00 4.00 1.00 172.0 0.0 0.0 172.0 8,932.0 |7 A7 7 /L Ml
8.0 80 ~ 8.2 52 6.50 0.00 0.00

TR S W R B T 224 (X 6.50 0.00 4.00 1.50 493.4 0.0 79.6 573.0 9,505.0 |7 A7 7L ik
8.2 52 ~ 8.8 25 6.50 0.00 1.50

T VR B T 22 e X 6.50 5.20 4.00 0.75 137.0 0.0 0.0 137.0 9,642.0 |7 A7 7L N
8.8 25 ~ 9.3 12 9.75 4.00 1.25

JE e VR Ry T 22 Ve X 13.00 7.00 4.00 3.00 168.0 0.0 0.0 168.0 9,810.0 |7 A7 7 /L M
9.3 12 ~ 9.4 80 9.75 4.00 1.25

T 5 VR R B T 224t (X 9.50 4.00 1.50 0.75 120.0 0.0 0.0 120.0 9,930.0 |7 A7 7L ik
9.4 80 ~ 9.6 0 6.50 3.50 0.50

JE e VR B T 22 e X 6.50 2.25 1.50 0.75 30.0 0.0 5.0 35.0 9,965.0 |7 A7 7L NeiidE
9.6 0~ 9.6 35 6.50 2.25 1.00

JE o VR Ry T 22 Ve X 6.50 2.10 4.00 0.90 50.0 0.0 40.0 90.0 10,055.0 |7 A7 7)1 Mgk
9.6 35 ~ 9.7 25 6.50 2.00 1.00

TR S W R B T 224t (X 6.50 2.00 0.00 0.50 163.0 0.0 0.0 163.0 10,218.0 |7 A7 7 /L Motk
9.7 25 ~ 9.8 88 6.50 2.00 1.00

T S W R B T 224t (X 6.50 2.10 1.50 0.90 70.0 0.0 0.0 70.0 10,288.0 |7 A7 7 /L Mtk
9.8 88 ~ 9.9 58 6.50 2.00 0.90

T VR By T 22 e X 6.50 2.10 0.00 0.90 42.0 0.0 0.0 42.0 10,330.0 |7 A7 7 /L ek
9.9 58 ~ 10.0 0 6.50 2.00 0.60

TR S IR R B T 2242 (X 6.50 2.00 1.50 1.00 41.0 0.0 0.0 41.0 10,371.0 |7 A7 7 /L Motk
10.0 0~ 10.0 41 6.50 2.00 0.60
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PN AN S RS 6.50 2.00 1.50 1.00 117.0 0.0 0.0 117.0 10,488.0 |7 A7 7 /L Mtk
10.0 41 ~ 10.1 58 6.50 2.00 1.00

JE e VR B T 22 e X 6.50 2.00 1.50 1.00 16.0 0.0 0.0 16.0 10,504.0 |7 A7 7 /L ek
10.1 58 ~ 10.1 74 8.50 1.80 1.00

JE e VR Ry T 22 Ve X 6.50 4.30 1.50 1.00 22.0 0.0 0.0 22.0 10,526.0 |7 A7 7)1 Mgk
10.1 74 ~ 10.1 96 8.50 1.80 1.00

T S W R B T 224t (X 8.50 2.00 1.50 1.00 47.0 0.0 0.0 47.0 10,573.0 |7 A7 7 /L Maidt
10.1 96 ~ 10.2 43 8.50 1.80 1.00

JE e VR B T 22 e X 6.50 2.00 1.50 1.00 26.0 0.0 0.0 26.0 10,599.0 |7 A7 7 /L ek
10.2 43 ~ 10.2 69 8.50 1.80 1.00

JE o VR By T 22 e X 6.50 2.00 1.50 1.00 10.0 0.0 0.0 10.0 10,609.0 |7 A7 7)1 Mgk
10.2 69 ~ 10.2 79 6.50 2.00 1.80

T 5 VR R B T 224t (X 6.50 2.00 1.50 1.00 | 2,106.0 0.0 50.0 2,156.0 12,765.0 |7 A7 7 /L Maidt
10.2 79 ~ 12.4 35 6.50 2.00 1.00

JE e VR B T 22 e X 6.50 2.00 1.50 1.00 30.0 0.0 0.0 30.0 12,795.0 |7 A7 7 /L ek
12.4 35 ~ 12.4 65 8.50 2.00 1.00

JE o VR Ry T 22 Ve X 8.10 2.00 1.50 1.00 18.0 0.0 0.0 18.0 12,813.0 |7 A7 7/L Mgk
12.4 65 ~ 12.4 83 8.50 2.00 1.00

T S VR R B T 224t (X 8.10 2.00 1.50 1.00 18.0 0.0 0.0 18.0 12,831.0 |7 A7 7 /L Motk
12.4 83 ~ 12.5 1 6.50 2.00 1.00

PN AN IS RS 6.50 2.00 1.50 1.00 758.7 0.0 73.3 832.0 13,663.0 |7 A7 7 /L Mtk
12.5 1~ 13.3 33 6.50 2.00 1.00

T VR By T 22 e X 6.50 2.00 2.00 1.00 167.0 0.0 0.0 167.0 13,830.0 |7 A7 7 /L ek
13.3 33 ~ 13.5 0 6.50 2.00 1.00

T S IR R B T 224 (X 6.50 2.00 2.00 1.00 65.0 0.0 0.0 65.0 13,895.0 |7 A7 7 /L Mtk
13.5 0~ 13.5 65 6.50 2.00 1.00
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PN AN S RS 6.50 2.00 2.50 1.00 54.0 0.0 0.0 54.0 13,949.0 |7 A7 7 /L Motk
13.5 65 ~ 13.6 19 3.50 2.40 1.00

JE e VR B T 22 e X 6.50 2.00 2.50 1.00 97.0 0.0 0.0 97.0 14,046.0 |7 A7 7 /L ek
13.6 19 ~ 13.7 16 6.50 2.00 1.00

JE e VR Ry T 22 Ve X 6.50 2.00 2.80 1.00 84.0 0.0 0.0 84.0 14,130.0 |7 A7 7)1 Mgk
13.7 16 ~ 13.8 0 6.50 2.00 1.00

T S W R B T 224t (X 6.50 2.00 3.50 1.00 43.0 0.0 0.0 43.0 14,173.0 |7 A7 7 /L Maidt
13.8 0~ 13.8 43 6.50 2.00 1.00

JE e VR B T 22 e X 6.50 2.00 4.40 1.00 82.0 0.0 0.0 82.0 14,255.0 |7 A7 7 /L ek
13.8 43 ~ 13.9 25 6.50 2.00 1.00

JE o VR By T 22 e X 6.50 2.00 4.80 1.00 0.0 0.0 38.0 38.0 14,293.0 |7 A7 7L Mgk
13.9 25 ~ 13.9 63 6.50 2.00 1.00

T 5 VR R B T 224t (X 0.00 0.00 0.00 0.00 37.0 0.0 0.0 37.0 14,330.0 |7 A7 7 /L Motk
13.9 63 ~ 14.0 0 7.00 2.00 0.75

JE e VR B T 22 e X 6.50 2.00 0.00 1.00 37.0 0.0 0.0 37.0 14,367.0 |7 A7 7 /L ek
13.9 63 ~ 14.0 0 0.00 0.00 0.00

JE o VR Ry T 22 Ve X 0.00 0.00 0.00 0.00 32.0 0.0 0.0 14,367.0 |7 A7 7)1 Mgk
14.0 0~ 14.0 32 7.00 2.20 0.75

T S VR R B T 224t (X 6.50 2.00 0.00 1.00 19.0 0.0 52.0 71.0 14,438.0 |7 A7 7 /L Maidk
14.0 0~ 14.0 71 0.00 0.00 0.00

PN AN IS RS 0.00 0.00 0.00 0.00 0.0 0.0 32.0 14,438.0 |7 A7 7 /L Mtk
14.0 32 ~ 14.0 64 7.00 2.00 0.75

T VR By T 22 e X 0.00 0.00 0.00 0.00 34.4 0.0 342.6 14,438.0 |7 A7 7 /L ek
14.0 64 ~ 14.4 41 7.00 2.50 0.75

T S IR R B T 224 (X 6.50 2.00 0.00 1.30 0.0 0.0 323.0 323.0 14,761.0 |7 A7 7 /L Mtk
14.0 71 ~ 14.3 94 0.00 0.00 0.00
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PN =1EYINC T IR S e AR 6.50 2.50 0.00 0.80 56.0 0.0 0.0 56.0 14,817.0 |7 A7 7 /L Motk
14.3 94 ~ 14.4 50 0.00 0.00 0.00

PN =TS YINET IR S P 0.00 0.00 0.00 0.00 71.0 0.0 0.0 14,817.0 |7 A7 7/ ek
14.4 41 ~ 14.5 12 3.25 1.00 2.60

PN =TS YINET IR S drs 6.50 2.00 0.00 0.60 41.0 0.0 0.0 41.0 14,858.0 |7 A7 7)1 Mgk
14.4 50 ~ 14.4 91 0.00 0.00 0.00

S WA BTz AR X 9.50 1.50 0.00 0.00 34.0 0.0 0.0 34.0 14,892.0 |7 A7 7 /L Motk
14.4 91 ~ 14.5 25 0.00 0.00 0.00

N =T YINET IR S drs 0.00 0.00 0.00 0.00 6.0 0.0 0.0 14,892.0 |7 A7 7 /L ek
14.5 12 ~ 14.5 18 3.25 1.35 3.00

PN =TS YINET IR S drs 6.50 1.50 0.00 0.50 64.0 0.0 0.0 64.0 14,956.0 |7 A7 7)1 Mgk
14.5 25 ~ 14.5 89 0.00 0.00 0.00

N =1EYINC T IR S e AR 6.50 2.00 0.00 0.50 31.0 0.0 0.0 31.0 14,987.0 |7 A7 7 /L Motk
14.5 89 ~ 14.6 20 0.00 0.00 0.00

N =T YINET IE S drs 6.50 2.00 0.00 1.50 24.0 0.0 0.0 24.0 15,011.0 |7 A7 7 /L ek
14.6 20 ~ 14.6 44 6.25 1.35 1.00

PN =TS YINET IR S drs 6.50 2.00 0.00 1.50 44.0 0.0 0.0 44.0 15,055.0 |7 A7 7)1 Mgk
14.6 44 ~ 14.6 88 3.25 2.70 2.00

PN =1EYINC T IR S e AR 6.50 1.50 0.00 1.50 11.0 0.0 0.0 11.0 15,066.0 |7 A7 7 /L Mtk
14.6 88 ~ 14.6 99 3.25 2.70 2.00

S WA BTz b X 6.50 1.50 0.00 1.50 20.0 0.0 0.0 20.0 15,086.0 |7 A7 7 /L Mtk
14.6 99 ~ 14.7 19 3.25 1.90 2.00

PN =YY INET IR S P 6.50 1.50 0.00 1.50 43.0 0.0 0.0 43.0 15,129.0 |7 A7 7 /L Mk
14.7 19 ~ 14.7 62 3.25 0.00 3.20

PN =1EYINC T IR S e AR 6.50 1.50 0.00 1.50 35.0 0.0 0.0 35.0 15,164.0 |7 A7 7 /L Motk
14.7 62 ~ 14.7 97 3.25 0.00 6.00
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PN =1EYINC T IR S e AR 6.50 1.50 0.00 1.50 14.0 0.0 0.0 14.0 15,178.0 |7 A7 7 /L Motk
14.7 97 ~ 14.8 11 3.25 0.00 2.00

PN =TS YINET IR S P 6.50 2.50 0.00 0.50 387.0 0.0 0.0 387.0 15,565.0 |7 A7 7 /L ek
14.8 11~ 15.1 98 3.25 2.00 0.50

PN =TS YINET IR S drs 6.50 1.70 0.00 0.00 12.0 0.0 0.0 12.0 15,577.0 |7 A7 7)1 Mgk
15.1 98 ~ 15.2 10 5.45 1.20 0.45

S WA BTz AR X 6.50 2.90 0.00 0.00 13.0 0.0 0.0 13.0 15,590.0 |7 A7 7 /L Mtk
15.2 10 ~ 15.2 23 5.45 1.20 0.45

N =T YINET IR S drs 6.50 2.90 0.00 0.00 32.0 0.0 0.0 32.0 15,622.0 |7 A7 7 /L ek
15.2 23 ~ 15.2 55 5.45 1.50 0.45

PN =TS YINET IR S drs 6.50 1.50 0.00 0.50 52.0 0.0 0.0 52.0 15,674.0 |7 A7 7L Mgk
15.2 55 ~ 15.3 7 5.45 1.50 0.45

N =1EYINC T IR S e AR 6.50 1.50 0.00 0.50 33.0 0.0 0.0 33.0 15,707.0 |7 A7 7 /L Maidt
15.3 7~ 15.3 40 3.25 1.50 0.45

N =T YINET IE S drs 6.50 1.50 0.00 0.00 107.0 0.0 0.0 107.0 15,814.0 |7 A7 7 /L ek
15.3 40 ~ 15.4 47 3.25 1.50 0.45

PN =TS YINET IR S drs 6.50 2.10 0.00 0.00 10.0 0.0 0.0 10.0 15,824.0 |7 A7 7L Mgk
15.4 47 ~ 15.4 57 3.25 1.50 0.45

PN =1EYINC T IR S e AR 6.50 2.10 0.00 0.00 12.0 0.0 0.0 12.0 15,836.0 |7 A7 7 /L Mtk
15.4 57 ~ 15.4 69 5.15 1.80 0.45

S WA BTz b X 6.50 2.10 0.00 1.30 26.0 0.0 0.0 26.0 15,862.0 |7 A7 7 /L Mtk
15.4 69 ~ 15.4 95 5.75 1.80 0.45

PN =YY INET IR S P 6.50 1.80 0.00 1.30 23.0 0.0 0.0 23.0 15,885.0 |7 A7 7 /L ek
15.4 95 ~ 15.5 18 5.75 1.80 0.45

PN =1EYINC T IR S e AR 6.50 2.60 0.00 1.30 12.0 0.0 0.0 12.0 15,897.0 |7 A7 7 /L Magidt
15.5 18 ~ 15.5 30 5.75 1.80 0.45
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PN =1EYINC T IR S e AR 6.50 2.60 0.00 1.30 36.0 0.0 0.0 36.0 15,933.0 |7 A7 7 /L Motk
15.5 30 ~ 15.5 66 3.25 1.60 0.45

PN =TS YINET IR S P 6.50 2.00 0.00 0.75 72.0 0.0 6.0 78.0 16,011.0 |7 A7 7 /L ek
15.5 66 ~ 15.6 44 3.25 1.60 0.45

PN =TS YINET IR S drs 6.50 1.40 0.00 0.00 28.0 0.0 0.0 28.0 16,039.0 |7 A7 7)1 Mgk
15.6 44 ~ 15.6 72 3.25 1.60 0.45

S WA BTz AR X 6.50 1.40 0.00 0.00 34.0 0.0 0.0 34.0 16,073.0 |7 A7 7 /L Ml
15.6 72 ~ 15.7 6 3.25 2.50 0.45

N =T YINET IR S drs 6.50 2.50 0.00 0.50 568.0 0.0 14.0 582.0 16,655.0 |7 A7 7 /L ek
15.7 6 ~ 16.2 88 3.25 2.50 0.45

PN =TS YINET IR S drs 3.25 2.50 0.00 3.00 9.0 0.0 0.0 9.0 16,664.0 |7 A7 7)1 Mgk
16.2 88 ~ 16.2 97 3.25 2.50 0.50

N =1EYINC T IR S e AR 6.50 2.50 0.00 0.50 59.0 0.0 0.0 59.0 16,723.0 |7 A7 7 /L Maidt
16.2 97 ~ 16.3 56 3.25 2.50 0.75

N =T YINET IE S drs 6.50 1.50 0.00 0.75 270.9 0.0 13.1 284.0 17,007.0 |7 A7 7 /L ek
16.3 56 ~ 16.6 40 3.25 1.50 0.50

PN =TS YINET IR S drs 3.25 2.50 0.00 2.80 33.0 0.0 0.0 33.0 17,040.0 |7 A7 7L Mgk
16.6 40 ~ 16.6 73 3.25 2.50 1.50

PN =1EYINC T IR S e AR 3.25 3.00 0.00 1.70 53.0 0.0 0.0 53.0 17,093.0 |7 A7 7 /L Maidt
16.6 73 ~ 16.7 26 3.25 2.50 2.30

S WA BTz b X 3.25 2.50 0.00 2.20 567.0 0.0 0.0 567.0 17,660.0 |7 A7 7 /L Mt
16.7 26 ~ 17.2 93 3.25 2.50 2.30

PN =YY INET IR S P 3.25 1.60 0.00 1.50 57.0 0.0 0.0 57.0 17,717.0 |7 A7 7 /L Nk
17.2 93 ~ 17.3 50 3.25 2.50 1.50

PN =1EYINC T IR S e AR 3.25 2.50 0.00 1.50 50.0 0.0 0.0 50.0 17,767.0 |7 A7 7 /L Maidt
17.3 50 ~ 17.4 0 3.25 2.50 1.50
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PN =1EYINC T IR S e AR 3.25 2.50 0.00 1.30 58.0 0.0 0.0 58.0 17,825.0 |7 A7 7 /L Maidt
17.4 0~ 17.4 58 3.25 2.50 1.50

PN =TS YINET IR S P 3.25 2.50 0.00 1.30 224.0 0.0 0.0 224.0 18,049.0 |7 A7 7 /L ek
17.4 58 ~ 17.6 82 3.25 2.50 1.20

PN =TS YINET IR S drs 3.25 2.50 0.00 1.30 119.0 0.0 0.0 119.0 18,168.0 |7 A7 7)1 Mgk
17.6 82 ~ 17.8 1 3.25 2.80 1.20

S WA BTz AR X 3.25 2.50 0.00 1.30 110.0 0.0 0.0 110.0 18,278.0 |7 A7 7 /L Maidt
17.8 1~ 17.9 11 3.25 2.50 1.20

N =T YINET IR S drs 3.25 1.10 0.00 1.30 10.0 0.0 0.0 10.0 18,288.0 |7 A7 7 /L ek
17.9 11~ 17.9 21 3.25 1.30 1.00

PN =TS YINET IR S drs 3.25 1.10 0.00 0.80 33.0 0.0 0.0 33.0 18,321.0 |7 A7 7L Mgk
17.9 21 ~ 17.9 54 3.25 1.30 1.00

N =1EYINC T IR S e AR 3.25 1.40 0.00 0.50 34.0 0.0 0.0 34.0 18,355.0 |7 A7 7 /L Maidk
17.9 54 ~ 17.9 88 3.25 1.30 1.00

N =T YINET IE S drs 3.25 1.40 0.00 0.50 22.0 0.0 0.0 22.0 18,377.0 |7 A7 7 /L ek
17.9 88 ~ 18.0 10 3.25 1.30 1.50

PN =TS YINET IR S drs 3.25 1.30 0.00 0.50 24.0 0.0 0.0 24.0 18,401.0 |7 A7 7/L Mgk
18.0 10 ~ 18.0 34 3.25 1.30 1.50

PN =1EYINC T IR S e AR 3.25 1.30 0.00 0.50 88.0 0.0 0.0 88.0 18,489.0 |7 A7 7 /L Magidk
18.0 34 ~ 18.1 22 3.25 1.30 0.80

S WA BTz b X 3.25 1.30 0.00 0.00 99.0 0.0 0.0 99.0 18,588.0 |7 A7 7 /L Mtk
18.1 22 ~ 18.2 21 3.25 1.30 0.80

PN =YY INET IR S P 3.25 1.50 0.00 0.50 81.0 0.0 0.0 81.0 18,669.0 |7 A7 7 /L ek
18.2 21 ~ 18.3 2 3.25 1.30 0.80

PN =1EYINC T IR S e AR 3.25 2.00 0.00 0.50 27.0 0.0 0.0 27.0 18,696.0 |7 A7 7 /L Mtk
18.3 2~ 18.3 29 3.25 1.30 0.80




e =

ok 2 kK R &

B4 0054 BE

L) = At =3
(S (B ol B o) m BT HE T OFEAH 1
BHoE [ R OE | oBER | KR | B K| I V&l a%
m

S I WA BTz AR X 3.25 2.00 0.00 0.50 8.0 0.0 0.0 8.0 18,704.0 |7 A7 7L ik
18.3 29 ~ 18.3 37 3.25 2.00 0.80

PN =T YINET IR S drS 3.25 0.00 0.00 0.70 0.1 0.0 20.9 21.0 18,725.0 |7 A7 7 /L ek
18.3 37 ~ 18.3 58 3.25 2.00 0.80

PN =TS YINET IR S drs 3.25 2.40 0.00 0.50 18.0 0.0 0.0 18.0 18,743.0 |7 A7 7/L Mgk
18.3 58 ~ 18.3 76 3.25 2.00 1.90

S WA BTz AR X 3.25 1.10 0.00 0.50 23.0 0.0 0.0 23.0 18,766.0 |7 A7 7 /L Mtk
18.3 76 ~ 18.3 99 3.25 0.00 1.50

PN =T YINET IE S drS 3.25 1.80 0.00 0.50 25.0 0.0 0.0 25.0 18,791.0 |7 A7 7 /L ek
18.3 99 ~ 18.4 24 3.25 0.00 1.50

PN =TS YINET IR S drs 3.25 1.80 0.00 0.50 56.0 0.0 0.0 56.0 18,847.0 |7 A7 7 /L ek
18.4 24 ~ 18.4 80 3.25 1.00 0.50

S WA BTz AR X 3.25 1.60 0.00 0.50 25.0 0.0 0.0 25.0 18,872.0 |7 A7 7 /L Magidt
18.4 80 ~ 18.5 5 3.25 1.00 0.50

N =T YINET IR S P 3.25 1.60 0.00 0.50 17.0 0.0 0.0 17.0 18,889.0 |7 A7 7 /L ek
18.5 5~ 18.5 22 3.25 1.30 0.50

PN =TS YINET IR S drs 3.25 1.30 0.00 0.50 23.0 0.0 0.0 23.0 18,912.0 |7 A7 7 /L Mgk
18.5 22 ~ 18.5 45 3.25 1.30 0.50

S WA BTz AR X 3.25 1.70 0.00 0.50 35.0 0.0 0.0 35.0 18,947.0 |7 A7 7 /L Magidk
18.5 45 ~ 18.5 80 3.25 1.30 0.50

S WA BTz b X 3.25 1.70 0.00 1.20 25.0 0.0 0.0 25.0 18,972.0 |7 A7 7 /L Mgtk
18.5 80 ~ 18.6 5 3.25 1.00 1.80

SIS 25 VR R s T 222 AR K 3.25 1.70 0.00 1.80 30.0 0.0 0.0 30.0 19,002.0 |7 A7 7 /L ek
18.6 5~ 18.6 35 3.25 1.00 1.80

PN =1EYINC T IR S e AR 3.25 1.70 0.00 1.20 13.0 0.0 0.0 13.0 19,015.0 |7 A7 7 /L Mgtk
18.6 35 ~ 18.6 48 3.25 1.00 1.50
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PN =1EYINC T IR S e AR 3.25 1.70 0.00 1.20 36.0 0.0 0.0 36.0 19,051.0 |7 A7 7 /L Motk
18.6 48 ~ 18.6 84 3.25 2.20 1.50

PN =TS YINET IR S P 3.25 1.70 0.00 1.20 23.0 0.0 0.0 23.0 19,074.0 |7 A7 7 /L ek
18.6 84 ~ 18.7 7 3.25 2.20 1.30

PN =TS YINET IR S drs 3.25 1.70 0.00 0.60 102.0 0.0 0.0 102.0 19,176.0 |7 A7 7)1 Mgk
18.7 7~ 18.8 9 3.25 1.50 1.00

S WA BTz AR X 3.25 2.00 0.00 0.60 26.0 0.0 0.0 26.0 19,202.0 |7 A7 7 /L Mtk
18.8 9 ~ 18.8 35 3.25 1.50 1.00

N =T YINET IR S drs 3.25 2.00 0.00 0.60 27.0 0.0 0.0 27.0 19,229.0 |7 A7 7 /L ek
18.8 35 ~ 18.8 62 3.25 1.50 1.00

PN =TS YINET IR S drs 3.25 2.00 0.00 0.60 83.0 0.0 0.0 83.0 19,312.0 |7 A7 7L Mgk
18.8 62 ~ 18.9 45 3.25 1.50 1.00

N =1EYINC T IR S e AR 3.25 1.50 0.00 0.60 31.0 0.0 0.0 31.0 19,343.0 |7 A7 7 /L Mtk
18.9 45 ~ 18.9 76 3.25 1.50 1.00

N =T YINET IE S drs 3.25 1.50 0.00 0.60 24.0 0.0 0.0 24.0 19,367.0 |7 A7 7/ ek
18.9 76 ~ 19.0 0 3.25 1.50 1.00

PN =TS YINET IR S drs 3.25 1.70 0.00 0.70 20.0 0.0 0.0 20.0 19,387.0 |7 A7 7 /L Mgk
19.0 0~ 19.0 20 3.25 1.50 1.10

PN =1EYINC T IR S e AR 3.25 0.00 0.00 1.60 102.0 0.0 0.0 102.0 19,489.0 |7 A7 7 /L Magidk
19.0 20 ~ 19.1 22 3.25 1.00 0.50

S WA BTz b X 3.25 0.00 0.00 1.60 12.0 0.0 0.0 12.0 19,501.0 |7 A7 7 /L Mt
19.1 22 ~ 19.1 34 3.25 0.80 0.50

PN =YY INET IR S P 3.25 0.00 0.00 1.20 44.0 0.0 0.0 44.0 19,545.0 |7 A7 7 /L Mk
19.1 34 ~ 19.1 78 3.25 1.00 0.50

PN =1EYINC T IR S e AR 3.25 0.00 0.00 1.90 41.0 0.0 0.0 41.0 19,586.0 |7 A7 7 /L Mgtk
19.1 78 ~ 19.2 19 3.25 1.00 0.50
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PN =1EYINC T IR S e AR 3.25 0.00 0.00 1.10 179.0 0.0 0.0 179.0 19,765.0 |7 A7 7 /L Mtk
19.2 19 ~ 19.3 98 3.25 1.00 0.50

PN =TS YINET IR S P 3.25 0.00 0.00 1.50 94.0 0.0 0.0 94.0 19,859.0 |7 A7 7 /L ek
19.3 98 ~ 19.4 92 3.25 1.00 0.50

PN =TS YINET IR S drs 3.25 0.00 0.00 1.10 100.0 0.0 0.0 100.0 19,959.0 |7 A7 7)1 Mgk
19.4 92 ~ 19.5 92 3.25 1.00 0.50

S WA BTz AR X 3.25 0.00 0.00 1.10 35.0 0.0 0.0 35.0 19,994.0 |7 A7 7 /L Mtk
19.5 92 ~ 19.6 27 3.25 0.80 0.90

N =T YINET IR S drs 3.25 0.00 0.00 1.10 162.0 0.0 0.0 162.0 20,156.0 | 7277 /L Mt
19.6 27 ~ 19.7 89 3.25 1.30 0.40

PN =TS YINET IR S drs 3.25 0.00 0.00 1.10 297.0 0.0 0.0 297.0 20,453.0 |7 =277/ Mt
19.7 89 ~ 20.0 86 3.25 1.30 0.40

N =1EYINC T IR S e AR 3.25 0.00 0.00 1.90 46.0 0.0 3.0 49.0 20,502.0 |7 A7 7L ik
20.0 86 ~ 20.1 35 3.25 1.30 1.40

N =T YINET IE S drs 3.25 0.00 0.00 2.00 43.2 0.0 6.8 50.0 20,552.0 | 727 7L Nt
20.1 35 ~ 20.1 85 3.25 1.50 1.50

PN =TS YINET IR S drs 3.25 0.00 0.00 1.50 26.0 0.0 0.0 26.0 20,578.0 |7 =277/ Mt
20.1 85 ~ 20.2 41 3.25 1.50 0.40

PN =1EYINC T IR S e AR 3.25 0.00 0.00 1.00 50.0 0.0 0.0 50.0 20,628.0 |7 A7 7L ik
20.2 41 ~ 20.2 91 3.25 1.50 0.40

S WA BTz b X 3.25 0.00 0.00 1.60 45.0 0.0 0.0 45.0 20,673.0 |7 A7 7L ik
20.2 91 ~ 20.3 36 3.25 1.50 0.40

PN =YY INET IR S P 3.25 0.00 0.00 1.00 35.0 0.0 0.0 35.0 20,708.0 | 7277 /L Mt
20.3 36 ~ 20.3 71 3.25 1.50 0.40

PN =1EYINC T IR S e AR 3.25 0.00 0.00 1.00 308.0 0.0 0.0 308.0 21,016.0 |7 A7 7L ik
20.3 71 ~ 20.6 79 3.25 1.20 0.40
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PN =1EYINC T IR S e AR 3.25 0.00 0.00 1.00 319.0 0.0 2.0 321.0 21,337.0 |7 A7 7/ Nk
20.6 79 ~ 21.0 0 3.25 0.90 0.40

PN =TS YINET IR S P 3.25 0.00 0.00 1.00 15.0 0.0 0.0 15.0 21,352.0 | 727 7L Mt
21.0 0~ 21.0 15 3.25 0.80 0.50

PN =TS YINET IR S drs 3.25 0.00 0.00 1.00 19.0 0.0 0.0 19.0 21,371.0 |7 =277 /L Mt
21.0 15 ~ 21.0 34 3.25 1.20 0.50

S WA BTz AR X 3.25 0.00 0.00 1.00 55.0 0.0 0.0 55.0 21,426.0 |7 A7 7L Nk
21.0 34 ~ 21.0 89 3.25 0.90 0.50

N =T YINET IR S drs 3.25 0.00 0.00 1.00 174.0 0.0 0.0 174.0 21,600.0 | 7277 /L Mt
21.0 89 ~ 21.2 63 3.25 1.00 0.50

PN =TS YINET IR S drs 3.25 0.00 0.00 1.00 49.0 0.0 0.0 49.0 21,649.0 |7 =277/ Mt
21.2 63 ~ 21.3 12 3.25 0.80 0.50

N =1EYINC T IR S e AR 3.25 0.00 0.00 1.00 39.0 0.0 0.0 39.0 21,688.0 |7 A7 7 L ik
21.3 12 ~ 21.3 51 3.25 0.90 0.50

N =T YINET IE S drs 3.25 2.20 0.00 0.50 27.0 0.0 0.0 27.0 21,715.0 | 7277 /L Mt
21.3 51 ~ 21.3 78 3.25 0.90 0.50

PN =TS YINET IR S drs 3.25 0.00 0.00 1.00 111.0 0.0 0.0 111.0 21,826.0 |7 =277/ Mt
21.3 78 ~ 21.4 89 3.25 0.90 0.50

PN =1EYINC T IR S e AR 3.25 0.00 0.00 1.00 190.0 0.0 0.0 190.0 22,016.0 |7 A7 7L ik
21.4 89 ~ 21.6 79 3.25 1.30 0.50

S WA BTz b X 3.25 1.40 0.00 0.50 152.0 0.0 0.0 152.0 22,168.0 |7 A7 7L ik
21.6 79 ~ 21.8 31 3.25 1.30 0.50

PN =YY INET IR S P 3.25 1.40 0.00 0.50 22.0 0.0 0.0 22.0 22,190.0 | 7277 /L Mt
21.8 31 ~ 21.8 53 3.25 0.90 0.70

PN =1EYINC T IR S e AR 3.25 0.00 0.00 1.00 147.0 0.0 0.0 147.0 22,337.0 |7 A7 7L Nk
21.8 53 ~ 22.0 0 3.25 0.90 0.70
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S I WA BTz AR X 3.25 0.00 0.00 1.10 40.0 0.0 0.0 40.0 22,377.0 |7 A7 7L Nk
22.0 0~ 22.0 40 3.25 0.80 0.70

PN =T YINET IR S drS 3.25 1.00 0.00 0.50 76.0 0.0 0.0 76.0 22,453.0 | 727 7L Mt
22.0 40 ~ 22.1 16 3.25 1.00 0.50

PN =TS YINET IR S drs 3.25 0.80 0.00 0.50 29.0 0.0 0.0 29.0 22,482.0 |7 =277 L Mt
22.1 16 ~ 22.1 45 3.25 1.00 0.50

S WA BTz AR X 3.25 3.00 0.00 1.00 16.0 0.0 0.0 16.0 22,498.0 |7 A7 7L Nk
22.1 45 ~ 22.1 61 3.25 1.00 0.50

PN =T YINET IE S drS 3.25 3.00 0.00 1.00 16.0 0.0 0.0 16.0 22,514.0 | 7277 /L Mt
22.1 61 ~ 22.1 77 3.25 0.80 0.50

PN =TS YINET IR S drs 3.25 2.25 0.00 1.00 11.0 0.0 0.0 11.0 22,525.0 |7 =277/ Mk
22.1 77 ~ 22.1 88 3.25 0.80 0.50

S WA BTz AR X 3.25 2.25 0.00 1.00 14.0 0.0 0.0 14.0 22,539.0 |7 A7 7L ik
22.1 88 ~ 22.2 2 3.25 1.10 0.50

N =T YINET IR S P 3.25 1.75 0.00 0.50 7.0 0.0 0.0 7.0 22,546.0 | 727 7L Mt
22.2 2~ 22.2 9 3.25 1.10 0.50

PN =TS YINET IR S drs 3.25 0.00 0.00 1.00 6.0 0.0 0.0 6.0 22,552.0 |7 =277/ Mt
22.2 9 ~ 22.2 15 3.25 0.80 0.50

S WA BTz AR X 3.25 0.00 0.00 1.00 18.0 0.0 0.0 18.0 22,570.0 |7 A7 7L ik
22.2 15 ~ 22.2 33 3.25 1.10 0.50

S WA BTz b X 3.25 0.00 0.00 1.00 193.0 0.0 0.0 193.0 22,763.0 |7 A7 7L Nk
22.2 33 ~ 22.4 26 3.25 1.10 0.50

SIS 25 VR R s T 222 AR K 3.25 0.00 0.00 1.00 60.0 0.0 0.0 60.0 22,823.0 | 727 7L Mt
22.4 26 ~ 22.4 86 6.25 1.70 1.70

PN =1EYINC T IR S e AR 3.25 0.00 0.00 1.00 115.0 0.0 0.0 115.0 22,938.0 |7 A7 7L ik
22.4 86 ~ 22.6 1 3.25 1.40 0.25
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PN =1EYINC T IR S e AR 3.25 0.00 0.00 1.60 51.0 0.0 0.0 51.0 22,989.0 |7 A7 7L ik
22.6 1~ 22.6 52 3.25 1.40 0.25

PN =TS YINET IR S P 3.25 0.00 0.00 0.90 242.6 0.0 5.4 248.0 23,237.0 | 7277 L Mt
22.6 52 ~ 22.9 0 3.25 1.40 0.30

PN =TS YINET IR S drs 3.25 0.00 0.00 1.35 24.0 0.0 0.0 24.0 23,261.0 |7 =277/ Mt
22.9 48 ~ 22.9 72 3.25 1.40 0.25

S WA BTz AR X 3.25 0.00 0.00 1.88 48.0 0.0 0.0 48.0 23,309.0 |7 A7 7L Nk
22.9 0~ 22.9 48 3.25 1.40 0.25

N =T YINET IR S drs 3.25 0.00 0.00 1.10 28.0 0.0 0.0 28.0 23,337.0 | 727 7L Mt
22.9 72 ~ 23.0 0 3.25 1.40 0.25

PN =TS YINET IR S drs 3.25 0.00 0.00 1.10 92.0 0.0 0.0 92.0 23,429.0 |7 =277/ Mk
23.0 0~ 23.0 92 3.25 1.50 0.25

N =1EYINC T IR S e AR 3.25 0.00 0.00 1.10 22.0 0.0 0.0 22.0 23,451.0 |7 A7 7L ik
23.0 92 ~ 23.1 14 3.25 1.90 0.25

N =T YINET IE S drs 3.25 0.00 0.00 1.10 11.0 0.0 0.0 11.0 23,462.0 | 727 7L Mt
23.1 14 ~ 23.1 25 3.25 1.70 0.50

PN =TS YINET IR S drs 3.25 0.00 0.00 1.10 30.0 0.0 0.0 30.0 23,492.0 |7 =277 L Mt
23.1 25 ~ 23.1 55 3.25 2.60 0.50

PN =1EYINC T IR S e AR 3.25 0.00 0.00 1.10 45.0 0.0 0.0 45.0 23,537.0 |7 A7 7L ik
23.1 55 ~ 23.2 0 3.25 1.70 0.30

S WA BTz b X 3.25 0.00 0.00 1.50 209.0 0.0 0.0 209.0 23,746.0 |7 A7 7L Nk
23.2 0~ 23.4 9 3.25 1.30 0.30

PN =YY INET IR S P 3.25 0.00 0.00 1.50 73.0 0.0 0.0 73.0 23,819.0 | 7277 /L Mt
23.4 9 ~ 23.4 82 3.25 1.60 0.30

PN =1EYINC T IR S e AR 3.25 0.00 0.00 1.50 220.0 0.0 0.0 220.0 24,039.0 |7 A7 7L ik
23.4 82 ~ 23.7 2 3.25 1.30 0.30
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PN =1EYINC T IR S e AR 3.25 0.00 0.00 3.00 65.0 0.0 0.0 65.0 24,104.0 |7 A7 7L Nk
23.7 2~ 23.7 67 3.25 2.00 0.50

PN =TS YINET IR S P 3.25 0.00 0.00 3.00 133.0 0.0 0.0 133.0 24,237.0 | 727 7L Mt
23.7 67 ~ 23.9 0 3.25 1.70 1.50

PN =TS YINET IR S drs 3.25 0.00 0.00 1.50 72.0 0.0 0.0 72.0 24,309.0 |7 =277/ Mt
23.9 0~ 23.9 72 3.25 2.00 0.50

S WA BTz AR X 3.25 0.00 0.00 1.50 28.0 0.0 0.0 28.0 24,337.0 |7 A7 7L Nk
23.9 72 ~ 24.0 0 3.25 2.20 0.50

N =T YINET IR S drs 3.25 0.00 0.00 1.50 50.0 0.0 0.0 50.0 24,387.0 | 727 7L Nt
24.0 0~ 24.0 50 3.25 2.00 0.50

PN =TS YINET IR S drs 3.25 0.00 0.00 1.50 100.0 0.0 0.0 100.0 24,487.0 | 7277/ Mt
24.0 50 ~ 24.1 50 3.25 1.60 0.50

N =1EYINC T IR S e AR 3.25 0.00 0.00 4.10 102.0 0.0 0.0 102.0 24,589.0 |7 A7 7L ik
24.1 50 ~ 24.2 52 3.25 1.60 0.50

N =T YINET IE S drs 3.25 0.00 0.00 1.60 24.0 0.0 0.0 24.0 24,613.0 | 7277 /L Mt
24.2 52 ~ 24.2 76 3.25 1.60 0.50

PN =TS YINET IR S drs 3.25 0.00 0.00 1.60 50.0 0.0 0.0 50.0 24,663.0 |7 277/ Mt
24.2 76 ~ 24.3 26 3.25 2.00 0.50

PN =1EYINC T IR S e AR 3.25 0.00 0.00 1.60 27.0 0.0 0.0 27.0 24,690.0 |7 A7 7L ik
24.3 26 ~ 24.3 53 4.15 2.00 0.50

S WA BTz b X 3.25 0.00 0.00 1.60 17.0 0.0 0.0 17.0 24,707.0 |7 A7 7L Nk
24.3 53 ~ 24.3 70 3.25 2.20 0.50

PN =YY INET IR S P 3.25 0.00 0.00 1.60 97.0 0.0 0.0 97.0 24,804.0 | 727 7L Mt
24.3 70 ~ 24.4 67 3.25 1.50 0.50

PN =1EYINC T IR S e AR 3.25 0.00 0.00 1.60 99.0 0.0 0.0 99.0 24,903.0 |7 A7 7L ik
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24.9 16 ~ 24.9 38 6.00 2.20 0.00

PN =TS YINET IR S drs 3.25 2.20 0.00 0.50 50.0 0.0 0.0 50.0 25,325.0 |7 =277/ Mgt
24.9 38 ~ 24.9 88 6.00 2.20 0.00

PN =1EYINC T IR S e AR 3.25 2.20 0.00 0.50 27.0 0.0 0.0 27.0 25,352.0 |7 A7 7L ik
24.9 88 ~ 25.0 15 3.25 1.80 0.50

S WA BTz b X 3.25 1.80 0.00 0.50 17.0 0.0 0.0 17.0 25,369.0 |7 A7 7L Mk
25.0 15 ~ 25.0 32 3.25 1.80 0.50
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25.1 41 ~ 25.2 67 3.25 1.70 0.50
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N =T YINET IR S P 3.25 0.00 0.00 1.50 0.0 0.0 15.0 15.0 26,014.0 | 7277 /L Mt
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25.6 77 ~ 25.6 88 3.25 4.30 0.00

S WA BTz AR X 3.25 0.00 0.00 1.50 0.0 0.0 27.0 27.0 26,052.0 |7 A7 7L ik
25.6 88 ~ 25.7 15 3.25 2.10 0.00
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25.7 15 ~ 25.7 29 3.25 2.10 3.00

SIS 25 VR R s T 222 AR K 3.25 0.00 0.00 1.50 0.0 0.0 16.0 16.0 26,082.0 | 7277 /L Mt
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S R By T 2 ek X 3.25 0.00 0.00 0.80 50.0 0.0 0.0 50.0 26,206.0 |7 A7 7 /L Nt
25.8 19 ~ 25.8 69 3.25 1.90 1.00

Sy B R By T 2 ek X 3.25 0.00 0.00 0.80 201.0 55.0 0.0 256.0 26,462.0 |7 A7 7 /L NaidE
25.8 69 ~ 26.1 25 3.25 0.00 1.00

INTEYIN T IR S e 3.25 0.00 0.00 0.80 0.0 78.0 0.0 78.0 26,540.0 |7 A7 7 /L NaidE
26.1 25 ~ 26.2 3 3.25 0.00 2.30

S R By T e ek X 3.25 0.00 0.00 0.80 10.0 483.0 5.0 498.0 27,038.0 |7 A7 7 /L et
26.2 3~ 26.7 1 3.25 0.00 0.60

Sy B By T 2 ek X 3.25 0.00 0.00 2.10 0.0 0.0 39.0 39.0 27,077.0 |7 A7 7 /L Nt
26.7 1~ 26.7 40 3.25 0.00 0.60

INTEYIN T IR S e 3.25 0.00 0.00 0.90 0.0 0.0 17.0 17.0 27,094.0 |7 A7 7 /L Wit
26.7 40 ~ 26.7 57 3.25 0.00 0.60

Sy R By T 2 ek X 3.25 0.00 0.00 4.50 0.0 0.0 20.0 20.0 27,114.0 |7 277/ Mk
26.7 57 ~ 26.7 77 3.25 0.00 0.60

Sy B R By T 2 ek X 3.25 0.00 0.00 0.90 148.0 56.0 0.0 204.0 27,318.0 |7 A7 7 /L Nt
26.7 77 ~ 26.9 81 3.25 0.00 0.60

SIS Jo YR 22 2 v FH T 3.25 0.00 0.00 0.90 0.0 19.0 0.0 19.0 27,337.0 | 72770 Mt
26.9 81 ~ 27.0 0 3.25 0.00 1.40

Sy W22 5 s T 3.25 0.00 0.00 1.20 0.0 100.0 0.0 100.0 27,437.0 |7 277/ Mk
27.0 0~ 27.1 0 3.25 0.00 1.40

SIS Jo VR 22 2 v FH T 3.25 0.00 0.00 1.10 134.2 60.0 305.8 500.0 27,937.0 | 7277 /u Mk
27.1 0~ 27.6 0 3.25 0.00 1.00

SIS Jo VR 22 2 v FH T 3.25 0.00 0.00 0.50 32.0 0.0 0.0 32.0 27,969.0 | 727 7L Mt
27.6 0~ 27.6 32 3.25 0.00 1.00

Sy W22 % s T 3.25 0.00 0.00 1.00 3.0 365.0 0.0 368.0 28,337.0 |7 277/ Mk
27.6 32 ~ 28.0 0 3.25 0.00 1.00
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SIS o VR A S5 v T 3.25 0.00 0.00 1.10 45.0 0.0 0.0 45.0 28,382.0 | 727 7 L Mt
28.0 0~ 28.0 45 3.25 0.00 1.00

S o VR A 35 v T 3.25 0.00 0.00 3.70 34.0 0.0 0.0 34.0 28,416.0 |7 27 7L Mt
28.0 45 ~ 28.0 79 3.25 0.00 1.00

SIS o VR A S5 v T 3.25 0.00 0.00 0.90 0.0 0.0 81.0 81.0 28,497.0 | 727 7L Mt
28.0 79 ~ 28.1 60 3.25 0.00 1.00

SIS o VR A 25 v 3.25 0.00 0.00 0.90 0.0 0.0 11.0 11.0 28,508.0 | 727 7 L Mt
28.1 60 ~ 28.1 71 3.25 1.00 0.80

SIS o VR A S5 v T 3.25 0.00 0.00 1.90 51.5 0.0 5.5 57.0 28,565.0 | 727 7L Mt
28.1 71 ~ 28.2 28 3.25 1.00 6.90

PN =S N ] 3.25 0.00 0.00 1.90 30.0 0.0 0.0 30.0 28,595.0 |7 27 7 L Mt
28.2 28 ~ 28.2 58 3.25 0.00 1.90

SIS o VR A 25 v T 3.25 1.60 0.00 1.90 33.0 0.0 0.0 33.0 28,628.0 | 727 7L Mt
28.2 58 ~ 28.2 91 3.25 0.00 1.90

SIS o VR A 25 v T 3.50 3.60 0.00 1.70 43.0 0.0 0.0 43.0 28,671.0 | 727 7 /L Ml
28.2 91 ~ 28.3 34 3.50 0.00 16.00

UNEIES 3.50 1.50 0.00 1.00 172.0 0.0 0.0 172.0 28,843.0 | 727 7 L Mt
28.3 34 ~ 28.5 6 3.50 0.00 1.00

SIS o VR A 25 v FH T 3.50 3.00 0.00 1.00 74.0 0.0 0.0 74.0 28,917.0 | 727 7 /L Mt
28.5 6 ~ 28.5 80 3.50 0.00 1.00
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BZH~E (D) IR TR X A S AEET 89.5] 9.75| 6.0 2.5| 1,678.1 |$MiAEEE 19914F | TL-20 | @f7HIFE MEL
IR ST RX AR AT H 0.0 0.0 05 HAGEAT
BZO~WE(TD) IR TR X A AR ET 89.5| 0.0 0.0] 0.5] 1,678.1 |GG 19914E | TL-20 | @f7HIFE MEL
IR TR A AR ST H 9.75| 6.0 2.5 HLAGEH T
TG (1=0) IR TR KA HEHT =T H 367.9] 9.75| 4.0] 2.75| 6,254.3 |GG 19904F | TL-20 | @f7HIFE MEL
IR T ZAER X ER TR 0.0l 0.0 05 AT
TREETE (T0) IR TR AR =T H 367.9] 0.0 0.0] 0.5 6,254.3 |SHEEEE 19864F#|  TL-20 | @f7HIFE MEL
IR ST IXER T 9.75| 4.0 2.75 AT
Va4 (RD) IR ST RZEREX R =T H 153.8] 9.75]  4.0] 2.75| 2,614.6 |RCAG-SIAEEG| 199348  TL-20 | @ATHIR MEL
IR ST ZEEXAER T H 0.0 0.0 05 AT
PER 46 (T) IR ST ER =T H 153.2] 0.0] 0.0] 0.5] 1,685.2 |RCH&-fISHEAE| 19874 TL-20 | @ITHIR ML
IR T ZAER X ER TR 9.75| 0.0] 0.75 HGEHT
VRS AT T IR ST ZEREXER =T H 86.14| 0.0 0.0 0.5 753.7 |RCHE 1987T4E | TL-20 | #BfTHIR 4L
IR ST IR AR T 3.25] 4.0l 1.0 HAGEAT
BEFIRE (2D) IR ST IX RN T H 85.4| 9.75] 8.5| 0.75| 1,665.3 |EMiAHEE 19924F | TL-20 | @f7HIFE MEL
IR R =T H 0.0 0.0 05 AT
iEFNAE (F0) IS ST 2R KPR T B 85.4| 0.0 0.0] 0.5] 1,665.3 |SHiAHERE 19854F |  TL-20 | #@fTHIR L
IR TR X i — T R 9.75| 8.5 0.75 HLAGEAMT
G () RSN ZTH 79.6] 7.5 0.0 5.5 1,074.6 |$RIEEEE 19884F | TL-20 | @f7HIFE MEL
IR ST KRR I — T H 0.0 0.0 05 AT
G (F) RS ZFEEKIINZTH 79.6] 0.0] 0.0 0.5 1,074.6 |SHiAHAE 19884F | TL-20 | @f7HIFE MEL
IR ST R RRIE— T B 7.5] 00| 55 AT
FERHAE (ED) R EERREH LT H 37.0] 10.5] 6.0 1.5 684.5 |PCH& 20024 | BIGfTE | WfTHIR MEL
IR ST X RRIE T B 0.0 0.0 05 HLAGEAT
FRHAE (D) R EER RS T B 37.00 0.0] 0.0 0.0 684.5|PCtE 20024EFE|  BISfwEE | WBATHIR MEL
IR ST X RRIF T B 12.5] 6.0 0.0 AT
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IR B R IS ST 2R K AAMN T B 73.35|  6.6] 2.0] 1.05( 1,540.4 |$MIAEHE 19694F |  TL-20 | #@fTHIR 4L
IR ST ZERER AN T B 6.6 2.0 1.05 AT
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T T 2R X\ ARHT 6.5 2.0 1.0 AT
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T T 2R R K\ ARHT 0.0 0.0 05 AT
BFARM)IE () T S T2 e i X\ KT 374.6] 0.0 0.0 0.5 4,027.0 |HAEEHE 19804F |  TL-20 | @fTHIR #EL
IR ALK T — T H 7.0l 25| 0.75 AT
KH)IHE (ED) T e T2 i X\ AT 323.1 7.0 2.0 0.9] 3,554.1 |40 (8k) U IME | 19564 13t HWATHIFR fEL
IR ST ALK T — T H 0.0l 0.0 09 ST
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